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1. lim
n→∞

√
n + 1−

√
n− 2√

n + 2−
√

n− 1
= . {�L§µ

2. � x→ 1 �§Ã¡�
(1− x)2 tanx

1−
√

sinx
éuÃ¡� (x− 1) ��ê� .

{�ndµ

3. �

{
x = e2t

y = t− e−t
K

dy

dx
= ,

d2y

dx2
= .

4. �¼ê y = y(x) d�§ y2 + ln y2 = x6 ¤(½§K
dy

dx
= .

{�L§µ

5. lim
x→0

(cot x− 1
x

) = . {�L§µ

6. �­� y = ln(x2 + 1), K y′ = y′′ = ,

­���Ü$:� .

7. ­� y =
x3 + 2

(x + 1)2
��ÜìC�� . {�L§µ

8. ®� F (x) ´ ex2 ����¼ê§K dF (sinx) = .

{�L§µ
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�. (6©) ^ ε− δ �óy² lim
x→0

x2 sin
2
x

= 0.

n. (6©) � f(x) = e−
1

x2 , Á�ÑT¼ê�mä:§¿�Omä:�a.¶ek��mä:§
KÖ¿½Â¼ê¦�3T:ëY"

o. (10©) � f(x) = lim
n→+∞

x22n(x−1) + ax + b

2n(x−1) + 1
£a, b �~ê¤§

(1) ¦¼ê f(x) �©ãL�ª¶ (2) (½~ê a, b ��¦ f(x) ¤�??��¼ê.
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Ê. (10©) (1) ¦¼ê y = 12x5 + 15x4 − 40x3 + 4 �üN«mÚ4�£(J^�L�Ñ¤;

(2) y²�§ 12x5 + 15x4 − 40x3 + 4 = 0 Tkn�¢�.

8. (10©) y², é x > 1 k e1−x ln(1 + x) < xe1−x < 1.
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Ô. W�(6©)µ � f(x) =
√

1 + x2, K f ′(x) = , f ′′(x) = ,

f ′′′(x) = , f(x) ���ê�N�Ðª� .

l. (10©) ®� f ′(sinx) = 1 + x, ¦ f(x), x ∈ (−1, 1).

Ê. (10©) ®� f(x) ´
sinx

e + cos x
����¼ê§f(π

2 ) = −1, ¦

∫
f(x)f ′(x)dx.
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